
 Algebra and Geometry 1. Homework 26.

1. Simplify the following expression: 

 

 

 

 

 

2. Let 𝑎 = 2 ∙ 108,, 𝑏 = 105. Compute  

𝑎.   𝑎2 ∙ 𝑏;                       𝑏.   
𝑎

𝑏
;                               𝑐.   
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; 

 

3. If 𝑎 = 2−13 ∙ 39, 𝑏 = 2113−7 what is the value of 𝑎𝑏? Of 𝑎/𝑏? 

4. Evaluate the following expression by the most convenient way: 

952 − 52 = 

5. If, in a right triangle, one leg has length 1 and the hypotenuse has length 2, what is the 

other leg? 

 

6.  

 

 

 

 

 

 

 

 

7. Prove that pair of numbers (1,2) (x=2, y=2) is the solution of the following system of 

equations   

 
8. Draw on a number line solutions of the following inequalities; 

𝑎.  |𝑥 − 4| ≤ 1                                    𝑐.  |𝑥 + 5| < 2;                                   𝑒.  |𝑥| ≤ 6 

𝑏.  |𝑥 − 4| ≥ 1                                    𝑐.  |𝑥 + 5| ≥ 2;                                   𝑒.  |𝑥| ≥ 6 

 

 


